SHEET D %]

< m | | | | < | | <o | | <o | | < | | < | | < | | < | | < |
au --> pc | irop | au --> pc | np | au --> db --> aob,au,pc | irix | (at) --> db --> au | trix | (at) --> db --> au | trix | au --> aob,pc | irix | au --> aob,pc | irix | au --> db --> aob,au,pc | irix | au --> aob,pc | irix | au --> aob,pc | irix
(rya) --> db --> aob,au  |-------- | (dbin) --> dbd --> alub  |-------- | +2 --> au |-------- | au --> aob,pc [-------- | au --> aob,pc [-------- | ftu --> abe --> alu,rx |-------- | ftu --> abe --> alu,rx [-------- | ftu --> abe --> alu,rx |-------- | (dbin) --> abe --> alu,at |-------- | (rx1) --> db --> alu [--------
+1,+2 --> au | db | (rxd) --> ab* --> dcr | db | | dbi | (dbin) --> db* --> alu | dbi | (dbin) --> db* --> alu | dbi | (ryl) --> db --> alu | dbi | (ryl) --> db --> alu | dbi | -1 --> alu | dbi | (rx1) --> db --> alu | dbi | (ryl) --> abe --> alu,at | dbi
|-------- | (rya) --> db --> au [-------- | |-------- | edb --> dbin,irc [-------- | edb --> dbin,irc [-------- | |-------- | [-------- | +2 --> au |-------- | |-------- | [--------
| x | -1,-2 --> au | x [ | x | ftu --> abe --> alu,rx | 2i | ftu --> abe --> alu,rx | 2i | | 2i | | 2i [ | 1i | | 2i | | 2i
[ | [— | [e— | 0> au [ |0 --> au [ | [ | [ | [ | [ | [
| rxry | | rxry [ | dxdy | | dtuk | | dtuk | | dtry | | dtry | | rxdy | | rxuk | | rxuk
| | | | | | | | | | | | | | | | | | |
322 | cmmwl |  cmmwl | 3cc | asbbl |  pdcwl | 213 | b b | 381 | magwl |  magwl | 385 | magli magwl | 2bb |  ragwl raqwl | 2bf | raqll raqwl | b | rlqgli rlqll | lcf |  cpmml romwl | 1d9 | cprml |  rorwl
------------------------------------ R A e A e A e A i A G A e A e A Rt
| | | | | | | | | |
v v | | | | | | | v
v v v v v v v
> m | | < m| mmrw3 morw2 morl2 roaw2 roal2 mmrw3 cprm2 | > [
au --> db --> at,au,rya | frop | au --> * --> aob,rya | irop | (ath) --> ab --> alu | frix
edb --> dbin |-------- | (dbin) --> ab* --> alu [-------- | edb --> dbin,irc [--------
+2 --> au | db | -1 --> alu | db | (rxh) --> db --> alu | db
[t | (s | (s
| x | | 1n | | 3f
[— | [Rs—— | [
| | | | |
| | | | |
250 | cmmw2 | cmmw2 | 108 | asbb2 |  asxw2 | cb | cprm2 |  cprm2
____________________________________ \ = = m o m e \ = = m o m e
| | |
v v |
v
<> m | | > m | | < | | < | | < | | < | | < | | < | | < | rcal3
(dbin) --> ab* --> alu | trop | edb --> dbin | frop | au --> db --> aob,au,pc | irix | au --> db --> aob,au,pc | irix | au --> aob,pc | irix | au --> aob,pc | irix | au --> aob,pc | irix | au --> aob,pc | irix | au --> aob,pc | irix
edb --> dbin |-------- | (rxa) --> db --> au [-------- | (dbin) --> dbd --> alu |-------- | (dbin) --> dbd --> alu [-------- | (rx1) --> ab --> alu [-------- | (rx1) --> ab --> alu |-------- | (dbin) --> abe --> alu,at |[-------- | (dbin) --> abe --> alu,at |-------- | (rx1) --> db --> alu |--------
(rxa) --> db --> aob,au | dbi | -1,-2 --> au | db | (rx1) --> ab* --> alu | dbi | (rx1) --> ab* --> alu | dbi | (ryl) --> db --> alu | dbi | (ryl) --> db --> alu | dbi | (rx1) --> db --> alu | dbi | (rx1) --> db --> alu | dbi | (ryl) --> abe --> alu,at | dbi
‘1 -5 alu [ | [ | 42 -5 au [ | 42 -5 au [ | [ | [ | [ | [ | [
+1,+2 --> au | 1n | | x [ | 2i | | 2i | | 2i | | 2i | | 21 | | 2i | | 2i
[— | [R— | [Ra— | [ | [Ra— | [Ra— | [— | [Ra— | [Ra—
| | | | | ukuk | | ukuk | | ukry | | ukry | | rxuk | | rxuk | | rxuk
| | | | | | | | | | | | | | | | |
3c3 | cmmw3 |  cmmw3 | 10a | asbb3 |  asxw3 | 251 |  cpdwl cpdwl | 255 |  cpdll |  cpdwi | 109 | rcawl roawl | 1od | rcall roawl | 1d3 | cpmwl romwl | 1d7 | cpmll romwl | 1d1 | cprwl rorwl
------------------------------------ ey A Gt A et e A et A e A G e A N et A T
| | | | | | | | |
v v | v v v | v |
v v v
<] | <> m | mmrw3 | > | | > | | > | rcaw2 | > | rcaw2 | < [
alu --> abd --> alu | trix | au --> * --> aob,at,rxa | trop | (alue) --> db* --> alu | frix | edb --> dbin,irc | frix | edb --> dbin,irc | frix | (alub) --> alu | frix | au --> aob,pc | irix
au --> ab --> rxa |-------- | (dbin) --> db* --> alub  |-------- | edb --> dbin,irc [-------- | (ir) --> ird [-------- | (rxh) --> ab --> alu |-------- | edb --> dbin,irc [-------- | (rx1) --> db --> alu [--------
(dbin) --> dbd --> alu | a1 | edb --> dbin | dbi | (ir) --> ird | a1 | (pc) --> db --> au | a1 | (ryh) --> db --> alu | db | (rxh) --> db --> alu | db | (ryl) --> abe --> alu,at | dbi
edb --> dbin,irc |-------- | [-------- | (rxh) --> ab --> alu [-------- | +2 --> au [-------- | |-------- | |-------- | [--------
(ir) --> ird | 2i | | x | | 3f | | x | | 3f | | 3f | | 2i
(pc) --> db --> acb,au [-----n-- | [ | [ | [ | [ | [ | [
+2 --> au | | | | | | | | | | | | | rxuk
| | | | | | | | | | | | |
c7 | cmmwd |  cmmw4 | 216 | asbb4 |  asxwd | c8 | cpdl2 |  cpdl2 | 323 |  rcaw2 rcaw2 | a rcal2 rcal2 | 9 | cpml2 cpml2 | 1d5 | cprll |  rorwl
------------------------------------ \ = m e e i A e A il = m o m e \ = m oo e
| asbbs | rcal3 | rcal3 | cpri2
v v v v
| < | | | | | < | < | | >
| (alub) --> alu | irix | (psw) --> ftu | np | (ir) --> ird | np | au --> ab --> aob,at | irix | au --> ab --> aob,at | irix | edb --> dbin,irc | frix
| (dbin) --> db* --> alu [-------- | (pc) --> db --> au |-------- | (pc) --> db --> au |-------- | (dbin) --> dbd --> alue |-------- | ftu --> db --> au |-------- | (rxh) --> db --> alu [--------
| (pc) --> * --> aob | db | -2 --> au | db | +2 --> au | a1 | ftu --> db --> au | dbi | (rxdl) --> abd --> alub | dbi | (ryh) --> ab --> alu | db
| [-------- | |-------- | |-------- | (rxdl) --> abd --> alub  |-------- | (rydl) --> dbd --> alue |-------- | [--------
| | 2i | | x | | x | @ --> alu | 1i | @ --> alu | 1i | | 3f
| [ea—— | [Re— | [ess— | 0 --> au [R— | 0 --> au [ | [
| | | | dtdy | | | | rxuk | | rxuk | |
| | | | | | | | | | | |
| 7 | asbbs | asbbs [ 1d4 | stiwl tracl | a4 | rcal3 rcal3 | 6e | mulml mulml | 6f | mulrl mulrl | ca | cprl2 |  cprl2
\mmmmmmmm e R Tl e R \mmmmmmmm e \mmmmmmmmmmm e \mmmmmmmm e
| | | | |
v v v |
v v
< m | | > | | | | < | | < | | > | mulm2 rcal3
au --> pc | irop | alu --> ab* --> alu | frix | ftu --> ab --> alu | np | au --> aob,pc | irix | au --> aob,pc | irix | alu --> * --> rxl | frix
(rya) --> db --> aob,au  |-------- | (at) --> db --> au [-------- | (rxdl) --> db* --> alu |-------- | (rx) --> ab --> at,dcr [-------- | (dbin) --> ab --> ftu [-------- | edb --> dbin,irc [--------
+1,+2 --> au | db | edb --> dbin,irc | db | | db | (ry) --> db --> au | dbi | (rya) --> db --> at | dbi | | be
|-------- | corf --> alu [-------- | |-------- | @ --> au [-------- | |-------- | [--------
| x | @ --> au | 3i [ | 2n | | x | | x | | x
[— | [ | [ | [ | [ | [
| rxry | | | | | | usry | | usry | |
| | | | | | | | | |
326 | cmmll | cmmwl | 3c2 | asbbé | asbbé | 44 | stiw2 stiw2 | 1706 |  suspl |  exgel | a7 | 1luspl leaal | 3ef |  mulm2 rorl2
------------------------------------ e A G A e A O e R e \mmmmmm e
| | | | | |
v | v | | |---> mulm3 if mulu*alue[@]=1, where mulu:ird[8]=0
v v v |---> mulm5 if muls*alue[@]=1, where muls:ird[8]=1
> m | morw2 [ | extr2 leaa2 |---> mulm4 if alue[0]=0
au --> db --> at,au,rya | frop | alu --> ab --> ftu | np
edb --> dbin |-------- | au --> db --> au |--------
+2 --> au | db | +2 --> au | db
[t | [oessm.
| x | | x
[— | [—
| | |
| | | | | | | | |
254 |  cmml2 | cmmw2 [ 45 |  stiw3 stiw3 | alu --> ab --> alu,rxh | np | alu --> dbd --> alu | np | alu --> abd --> alu | np
———————————————————————————————————— \m o m | (alue) --> dbd --> rxdl  |--------] | (alub) --> alu |--------] | (atl) --> ab --> pcl |--------
| | | (ath) --> dbh --> au,pch | a1 | | db | au --> db --> au | bc
v v | (atl) --> dbl --> au [-------- | [-------- | -1 --> alu |--------
| (ir) --> ird | 1f | | 3f | -1 --> au | 4f
o | < | | | | | < | | | -1 --> alu [ | [ | 'sr c-alu-alue’ [t | |
(at) --> * --> aob | trop | au --> aob,pc | irix | ftu --> psw | np | au --> db --> au | np | au --> aob,pc | irix | au --> pc | np | +2 --> au | | | | | | alu --> dbd --> alu | np
au --> * --> rya |-------- | (rx1) --> db --> alu [-------- | |-------- | (dbin) --> ab --> ftu [-------- | (ryh) --> db --> alu [-------- | ftu --> *e --> at |-------- | | | | | | | (alub) --> alu [--------
(dbin) --> * --> alub | db | (ryl) --> abe --> alu,at | dbi [ | db | -2 --> au | db | (ryl) --> ab --> alub,ath | dbi | @ --> alu | db | 29 | mulmé mulmé [ 69 |  mulm3 mulm3 | e9 | mulma mulm4 | | db
edb --> dbin [—— | R | [—— | [ | -1 5> alu [ | [—— N mmm oo \- e N mmm oo | [
| x | | 21 | | x | | x | | 1i | | 1n | | | | 2f
|-------- | |-------- I |-------- | [-------- | |-------- | |-------- | | [muls alue[1:0]= | |--------
| | | rxry | | | | dxuk | | dxry | | dxdy v |---> mulm3 if au/=0 [mulu alue[1]=1 | |
| | [ [ | | | | | | | mulmé | [muls alue[1:0]=00 | [
340 |  cmml3 |  cmml3 | lcd | rbrbl |  rorwl | 46 | stiwd stiwd | 6b | mstwl |  mstwi | 4c | swapl swapl | 87 | rseti stopl |-> mulm4 if au/=0 [mulu alue[1]=0 | a9 |  mulms |  mulms
------------------------------------ N 2 2 N 2 N 2 |---> mulmé if au=o \ = m e
| cmmla | rbrb2 | malw3 | stiwd | swap2 | rset2 |---> mulm5 if au/=0 muls alue[1:0]=1 | mulm4e
v v v v v v v
<m | | > | | > | | |
(dbin) --> ab* --> alu | trop | alu --> ab* --> alu | frix | alu --> dbd --> rydl | frix | alu --> dbe --> au | np
edb --> dbin |-------- | (at) --> db --> au [-------- | (alub) --> alu [-------- | -2 --> au [--------
(rxa) --> db --> aob,au | dbi | edb --> dbin,irc | db | (ath) --> ab --> ryh | a1 | | dbi
-1 --> alu |-------- | corf --> alu [-------- | au --> db --> au [-------- | |--------
+1,+2 --> au | 1n | @ --> au | 3i | edb --> dbin,irc | 1f | | x
[ | [ | (ir) --> ird [ | [
| | | | -1 --> alu | | |
| | | | | | |
3c7 | cmml4 |  cmmw3 | 3c6 | rbrb2 | asbbé | 4d |  swap2 swap2 | 23b | rset2 rset2
------------------------------------ \mmmm e R A S L LR LR R R
| | |
v v |
|
o | | | | | | o | < | o | |
au --> db --> aob,au | trop | alu --> ab --> rxl | np | au --> db --> au | np [ | (at) --> db --> au | trix | au --> db --> aob,au,pc | irix | (at) --> db --> au | trix | trap --> ftu | np
(dbin) --> dbd --> alue |-------- | (ir) --> ird [-------- | (ryd) --> ab --> ftu |-------- | | au --> aob,pc [-------- | (ryl) --> ab* --> alu |-------- | au --> aob,pc |-------- | [--------
edb --> dbin | db | (pc) --> db --> au | a1 | -2 --> au | db | | (dbin) --> ab* --> alu | dbi | @ --> alu | dbi | (dbin) --> ab* --> alu | dbi | | dbc
+2 --> au |-------- | +2 --> au [-------- | |-------- | | edb --> dbin,irc [-------- | +2 --> au [-------- | edb --> dbin,irc |-------- | [--------
| x | | xnf | | x | | @ --> alu | 2i | | 2i | @ --> alu | 2i | | x
[e— | [ | [— | | 0 --> au [— | [s—— | 0 --> au [ | [—
| | [ [ | dxuk | | | dxuk | | dxry | | dxuk | [
| | | | | | | | | | | | | |
341 |  cmml5 |  cmmls | 9 | rbrb3 | rbrb3 [ 23e |  rstwl rstwl | | 15b |  nnmwl nnmwl | 112 | nnrwl nnrwl | 15f | nnmll nnmwl | @ | rstpl | rstpl
------------------------------------ e A L L LR | e Ry A G A i A e e
| | | | | | |
v | v | | v v
v v v
< | stiwd | | | <> | | | morw2 roaw2 | <> ] | |
alu --> abd --> alu | irix | au --> aob,pc | irix | edb --> dbin,irc | trix | au --> db --> au | ak | alu --> dob | twop | ftu --> dbe --> au | np
au --> ab --> rxa |-------- | (psw) --> ftu [-------- | (ir) --> ird [-------- | -2 --> au |-------- | (alub) --> alu |-------- | (inl) --> psw [--------
(dbin) --> dbd --> alu | db | | dbi | (pc) --> db --> aob,au | a1 | | db | (at) --> db --> aob,au | db | @ --> au | db
(pc) --> db --> aob,au |-------- | [-------- | +2 --> au |-------- | |-------- | @ --> alu |-------- | [--------
+2 --> au | 2i | | x | | x | | x | -2 --> au | 3f | | x
[ | [ | [ | [ | [ | [—
| | | dxuk | | | | | | | |
| | | | | | | | | | |
342 | cmmlé |  cmmle | 34a | stmwl | stmwi | 65 | rsets rsets | e5 | rset3 rset3 | 152 |  nnml2 nnm12 | 23¢ |  rstp2 |  rstp2
------------------------------------ e A e A e ety A
| | | |
v v | v
v
> | < | < | <> | | | < | < morw2 | <o
(alub) --> alu | frix | au --> db --> aob,au,pc | irix | au --> db --> aob,au,pc | irix | (at) --> db --> au | frix | | ak | au --> db --> aob,au,pc | irix | au --> aob,pc | irix | au --> db --> aob,au | trix
(alue) --> dbd --> alu |-------- | (dbin) --> ab* --> alu [-------- | (ry) --> ab --> alu,at |-------- | edb --> dbin,irc [-------- | 'idle wait' |-------- | (ryl) --> ab* --> alu [-------- | (dbin) --> ab* --> alu |-------- | (dbin) --> ab --> sph [--------
edb --> dbin,irc | a1 | -1 --> alu | dbi | -1 --> alu | dbi | ftu --> ab --> alu | db | | bc | @ --> alu | dbi | @ --> alu | dbi | edb --> dbin | db
(ir) --> ird |-------- | +2 --> au [-------- | +2 --> au [-------- | -1 --> alu [-------- | [-------- | +2 --> au [-------- | [-------- | +2 --> au [--------
| 3f | | 1i | | 1i | @ --> au | 1n | | x | | 2i | | 2i | | x
[e— | [ | [ | [ | [e— | [ | [ | [—
| | | dxuk | | dxry | | | | | | dxry | | dxuk | |
| | | | | | | | | | | | | | |
343 | cmml? |  cmml7 | 3e2 | tsmwl |  tsmwl [ 3¢5 | tsrwl rrgwl | 49 | stmw2 | stmw2 | 114 | rset4 dvumb | 11la | nbcrl nnrwl | ac |  nbcmi nbcml | 2b8 |  rstp3 |  rstp3
------------------------------------ e A e A N e e T e A e A e \=mmmmmmmmm e
| mmrw3 | mmrw3 | morw2 |---> rset3 if au/=0 | nbcr2 | asbbé | rstpa
v v v |---> rset5 if au=0 v v v
| | | > | | < | | o
| au --> pc | np | alu --> ab* --> alu | frix | au --> db --> aob,au,pc | irix | au --> db --> aob,au | trix
| ftu --> *e --> at |-------- | (at) --> db --> au [-------- | (ryl) --> ab* --> alu |-------- | (dbin) --> ab --> sph [--------
| @ --> alu | a1 | edb --> dbin,irc | db | @ --> alu | dbi | edb --> dbin | db
| [-------- | corf --> alu [-------- | +2 --> au |-------- | +2 --> au [--------
| | 1n | @ --> au | 3i | | 2i | | x
| [— | [— | [Ra— | [R—
| | dxdy | | | | dxry | |
| | | | | | | |
| 83 | stopl stopl | 3ca | nbcr2 asbbé | 116 | nnrll nnrwl | 2bc | rstp4 |  rstp3
\mmmmmmm e \mmmmmmmm e \mmmmmmmm e \mmmmmm e
| | |
v v v
< | | < | | < | | < m | | | | < x| | > | | o |
au --> aob,pc | irix | au --> db --> aob,au,pc | irix | au --> db --> aob,au,pc | irix | (psw) --> ftu | irix | alu --> * --> rydl | np | au --> aob,pc | irix | alu --> db --> ryl | frix | au --> db --> aob,au | trix
(rx) --> ab --> at,dcr |-------- | (dbin) --> ab* --> alu [-------- | (ry) --> ab --> alu,at [-------- | (pc) --> db --> au [-------- | (ir) --> ird [-------- | (ryl) --> abe --> alu,au |-------- | edb --> dbin,irc |-------- | (dbin) --> ab --> spl [--------
(ry) --> db --> au | dbi | -1 --> alu | dbi | -1 --> alu | dbi | -2 --> au | dbi | (pc) --> db --> au | a1 | -1 --> alu | dbi | (ryh) --> ab --> alu | db | edb --> dbin | db
@ --> au |-------- | +2 --> au [-------- | +2 --> au |-------- | [-------- | +2 --> au [-------- | |-------- | @ --> alu |-------- | +2 --> au [--------
| x | | 11 | | 11 | | x | | xnf | | 11 | | 3f | | x
[ | [ | [ | [ | [ | [ | [ | [
I rXry I I dxuk I I dxry I | dxry I I I I dxry I I I I
123 |  exgel |  exgel | 3e6 |  tsmll |  tsmwl [ 3cd | tsrll rrgwl | 1c8 | strwl |  traci | 27¢ |  nbcr3 nbcr3 | 362 |  extrl extrl | ae nnrl2 nnrl2 | 23d | rstp5 |  Prstps
------------------------------------ R A e A T et e A e A e A
| | | | | | |
| | | | | | |
| | | | | v v
| | | | | roal4d jmall
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
v v v v v
> | > | | > | > m | | | | > * |
(at) --> * --> ry | frix | (alub) --> alu | frix | edb --> dbin,irc | frix | edb --> dbin,irc | frix | | irnp | (at) --> ab --> ry | frix
au --> * --> rx |-------- | edb --> dbin,irc [-------- | (ir) --> ird |-------- | ftu --> * --> rydl [-------- | 'idle wait' [-------- | edb --> dbin,irc |--------
edb --> dbin,irc | db | (ir) --> ird | a1 | (ryh) --> ab --> alu | a1 | | db | | db | (ir) --> ird | a1
|-------- | -1 --> alu [-------- | -1 --> alu |-------- | [-------- | [-------- | (pc) --> db --> au [--------
| x | | 1f [ | 1f | | xnf | | x | +2 --> au | x
[R— | [— | [Rm— | [ | [R— | [Ra—
| | | | | | | | | dxdy | |
| | | | | | | | | | |
360 | exge2 |  exge2 | 8b | tsml2 |  tsml2 | 8 | tsrl2 tsrl2 | 4b |  strw2 |  strw2 | 1 |  halt1 dvumb | 363 |  extr2 extr2
------------------------------------ e A et A e A \mmmmmmm e
| rcal3 | rcal3 | halt1
v v v



